
Related Facts Related Facts

4a. Which representation below matches 

the calculation 16 – 4 = 12? 

Explain your answer.

4b. Which representation below matches 

the calculation 8 + 7 = 15? 

Explain your answer.

5a. Use the digit cards to complete the 

related facts below.

5b. Use the digit cards to complete the 

related facts below.

6a. Jen is completing a part-whole 

model.

Is Jen correct? Prove it.

6b. Milo is completing a part-whole 

model.

Is Milo correct? Prove it.
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If 17 – 10 = 7, the 

missing number is 7.

16 + 4 = 20, so the 

missing number is 20.


